BID 24-0191-6 ANNUAL CONTRACT FOR FIRE EXTINGUISHER SERVICES FOR VARIOUS CHATHAM COUNTY DEPARTMENTS AND AGENCIES (REBID) BID DUE: FEBRUARY 17, 2025 @ 2pm					Pye Barker Fire and Safety Savannah, GA				
						Repair/Replacement Parts (As Required)			
I. RECHARGING COST	QTY	EACH	r	FOTAL	Item #	Description	Unit Cost	Unit of Measure	
1.25 lb. ABC	2	9	\$	18.00	1	Wall Bracket	\$1.00	/Each	
2.5 lb. ABC	13	\$9.00	\$	117.00	2	Various "O" Rings	\$6.95	/Each	
5 lb. ABC	149	\$14.00	\$	2,086.00	3	Top Operating Lever	\$ -	/Each	
10 lb. ABC	204	\$18.00	\$	3,672.00	4	Pull Pin (stainless steel)	\$ -	/Each	
20 lb. ABC	24	\$26.00	\$	624.00	5	Carry Handle (bottom lever)	\$ -	/Each	
20 lb. CO2	7	\$50.00	\$	350.00	6	Gauge	\$ -	/Each	
2.5 lb. HALOTRON	1	\$80.00	\$	80.00	7	Valve Body	\$25.00	/Each	
K-Class	1	\$230.00	\$	230.00	8	Hose Nozzle	\$ -	/Each	
Water Mist	3	\$85.00	\$	255.00	9	Screw Nozzle	\$ -	/Each	
50 lb. Purple-K	3		\$	-	10	Valve Stem Assy. (plastic)	\$25.00	/Each	
II. Hydrostatic Test Cost	QTY	EACH	r	FOTAL	11	Valve Stem Assy. (metal)	\$25.00	/Each	
1.25 lb. ABC	2	12.5	\$	25.00	12	Spring	\$5.95	/Each	
2.5 lb. ABC	13	\$12.50	\$	162.50	13	Hose & Nozzle Assy.	\$16.95	/Each	
5 lb. ABC	149	\$12.50	\$	1,862.50	14	Siphon Tube	\$20.50	/Each	
10 lb. ABC	204	\$12.50	\$	2,550.00	15	Hose Strap	\$9.95	/Each	
20 lb. ABC	24	\$12.50	\$	300.00	16	Hose Clip	\$5.95	/Each	
20 lb. CO2	7	\$12.50	\$	87.50	17	Plastic Keeper	\$ -	/Each	
2.5 lb. HALOTRON	1	\$12.50	\$	12.50	18	MSDS Label	\$-	/Each	
K-Class	1	\$12.50	\$	12.50	19	6-yr Label	\$ -	/Each	
Water Mist	3	\$15.00	\$	45.00	20	Hydro Label	\$ -	/Each	
50 lb. Purple-K	3	\$50.00	\$	150.00	21	Vehicle Bracket	\$15.00	/Each	
III. Inspection Costs	QTY	EACH	r	ГОТАL	22	Flag	\$1.50	/Each	
Inspection	407	\$7.00	\$	2,849.00	23	Recharge Powder		/Each lb	
Halon Systems (located at Detention Center, Judicial Courthouse, and Pete Liakakis Government Building)	4	\$700.00	\$	2,800.00	24	Extinguisher Enclosure	\$250.00	/Each	
Total Bid (I + II + III)			\$	18,288.50					
Acknowledgement of Addendum 1				Yes					

Item #	Description	Unit Cost	Unit of Measure		
1	1.5 lb. ABC	N/A	/Each		
2	2.5 lb. ABC	\$50.40	/Each		
3	5 lb. ABC	\$75.00	/Each		
4	10 lb. ABC	\$104.00	/Each		
5	20 lb. ABC	\$230.00	/Each		
6	2.5 lb. BC	Special Order	/Each		
7	5 lb. BC	Special Order	/Each		
8	10 lb. BC	Special Order	/Each		
9	20 lb. BC	Special Order	/Each		
10	2.5 lb. CO2	N/A	/Each		
11	5 lb. CO2	\$213.82	/Each		
12	10 lb. CO2	\$288.90	/Each		
13	20 lb. CO2	\$357.06	/Each		
14	2.5 lb. HALON	N/A	/Each		
15	5 lb. HALON	N/A	/Each		
16	10 lb. HALON	N/A	/Each		
17	20 lb. HALON	N/A	/Each		
18	2.5 gal H2O	\$250.00	/Each		
19	2.5 lb. HALOTRON	\$305.00	/Each		
20	5 lb. HALOTRON	\$512.00	/Each		
21	10 lb. HALOTRON	#######	/Each		
22	K-Class	\$340.00	/Each		
23	Water Mist	\$315.00	/Each		
24	50 lb. Purple-K	########	/Each		

"New" Fire Extinguishers (As Required):

*ANY ALTERATION OR DUPLICATION OF THE BID FORM SHALL BE CAUSE FOR DISQUALIFICATION OF BID SUBMISSION. ANY QUESTIONS REGARDING THE BID FORM SHALL BE DIRECTED TO THE PURCHASING DEPARTMENT.

*THIS IS THE OFFICIAL BID FORM. ALL VENDORS MUST USE THE PROVIDED BID FORM. QUOTES WILL NOT BE ACCEPTED IN ITS PLACE.

BID 24-0191-6 ANNUAL CONTRACT FOR FIRE EXTINGUISHER SERVICES FOR VARIOUS CHATHAM COUNTY DEPARTMENTS AND AGENCIES (REBID)

BID DUE: FEBRUARY 17, 2025 @ 2pm

Moseler, LLC DBA Founders Maintenance and Restoration Savannah, GA

					Repair/Replacement Parts (As Required)			
I. RECHARGING COST	QTY	EACH		TOTAL	Item #	Description	Unit Cost	Unit of Measure
1.25 lb. ABC	2	30	\$	60.00	1	Wall Bracket	\$12.00	/Each
2.5 lb. ABC	13	\$35.00	\$	455.00	2	Various "O" Rings	\$3.00	/Each
5 lb. ABC	149	\$55.00	\$	8,195.00	3	Top Operating Lever	\$3.00	/Each
10 lb. ABC	204	\$70.00	\$	14,280.00	4	Pull Pin (stainless steel)	\$2.40	/Each
20 lb. ABC	24	\$95.00	\$	2,280.00	5	Carry Handle (bottom lever)	\$12.00	/Each
20 lb. CO2	7	\$215.00	\$	1,505.00	6	Gauge	\$12.00	/Each
2.5 lb. HALOTRON	1	\$370.00	\$	370.00	7	Valve Body	\$30.00	/Each
K-Class	1	\$155.00	\$	155.00	8	Hose Nozzle	\$12.00	/Each
Water Mist	3	\$150.00	\$	450.00	9	Screw Nozzle	\$5.00	/Each
50 lb. Purple-K	3	\$525.00	\$	1,575.00	10	Valve Stem Assy. (plastic)	\$12.00	/Each
II. Hydrostatic Test Cost	QTY	EACH		TOTAL	11	Valve Stem Assy. (metal)	\$12.00	/Each
1.25 lb. ABC	2	35	\$	70.00	12	Spring	\$5.00	/Each
2.5 lb. ABC	13	\$54.00	\$	702.00	13	Hose & Nozzle Assy.	\$35.00	/Each
5 lb. ABC	149	\$68.00	\$	10,132.00	14	Siphon Tube	\$22.00	/Each
10 lb. ABC	204	\$80.00	\$	16,320.00	15	Hose Strap	\$4.00	/Each
20 lb. ABC	24	\$110.00	\$	2,640.00	16	Hose Clip	\$4.00	/Each
20 lb. CO2	7	\$280.00	\$	1,960.00	17	Plastic Keeper	\$10.00	/Each
2.5 lb. HALOTRON	1	\$370.00	\$	370.00	18	MSDS Label	\$3.50	/Each
K-Class	1	\$225.00	\$	225.00	19	6-yr Label	\$1.00	/Each
Water Mist	3	\$250.00	\$	750.00	20	Hydro Label	\$1.00	/Each
50 lb. Purple-K	3	\$600.00	\$	1,800.00	21	Vehicle Bracket	\$50.00	/Each
III. Inspection Costs	QTY	EACH		TOTAL	22	Flag	\$1.00	/Each
Inspection	407	\$13.00	\$	5,291.00	23	Recharge Powder	\$4.00	/Each lb
Halon Systems (located at Detention Center, Judicial Courthouse, and Pete Liakakis Government Building)	4	\$535.00	\$	2,140.00	24	Extinguisher Enclosure	\$130.00	/Each
Total Bid (I + II + III)				71,725.00				
Acknowledgement of Addendum 1				Yes				

Item #	Description	Unit Cost	Unit of Measure	
1	1.5 lb. ABC	\$72.00	/Each	
2	2.5 lb. ABC	\$72.00	/Each	
3	5 lb. ABC	\$90.00	/Each	
4	10 lb. ABC	\$135.00	/Each	
5	20 lb. ABC	\$250.00	/Each	
6	2.5 lb. BC	\$120.00	/Each	
7	5 lb. BC	\$170.00	/Each	
8	10 lb. BC	\$269.00	/Each	
9	20 lb. BC	\$420.00	/Each	
10	2.5 lb. CO2	\$350.00	/Each	
11	5 lb. CO2	\$350.00	/Each	
12	10 lb. CO2	\$550.00	/Each	
13	20 lb. CO2	\$625.00	/Each	
14	2.5 lb. HALON	\$440.00	/Each	
15	5 lb. HALON	\$999.00	/Each	
16	10 lb. HALON	#######	/Each	
17	20 lb. HALON	#######	/Each	
18	2.5 gal H2O	\$299.00	/Each	
19	2.5 lb. HALOTRON	\$350.00	/Each	
20	5 lb. HALOTRON	\$695.00	/Each	
21	10 lb. HALOTRON	#######	/Each	
22	K-Class	\$399.00	/Each	
23	Water Mist	\$390.00	/Each	
24	50 lb. Purple-K	\$450.00	/Each	

"New" Fire Extinguishers (As Required):

*ANY ALTERATION OR DUPLICATION OF THE BID FORM SHALL BE CAUSE FOR DISQUALIFICATION OF BID SUBMISSION. ANY QUESTIONS REGARDING THE BID FORM SHALL BE DIRECTED TO THE PURCHASING DEPARTMENT.

*THIS IS THE OFFICIAL BID FORM. ALL VENDORS MUST USE THE PROVIDED BID FORM. QUOTES WILL NOT BE ACCEPTED IN ITS PLACE.